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Udaya Public School, Ayodhya

Summative Assessment — 2 [2022-23]
Time: Class — 1 [Maths| M.M. 60
Name: Father's Name o
Note: All questions are compulsory.
Part A
1. Answer the following questions: I8]
(a) We can sort the objects by their
(i) Colour (i) Size (iii) both (i) and (ii)

(b)Extend the pattern ) & (©) © .
IS e B i) ) ©

(¢) At what time of the day do you have your lunch?

(i) Afternoon (ii) Night (iii) Evening
(d)How many months are there in a year?

(i) 10 (i) 12 (iii) 7
(e) All coins have faces.

(i) 2 (i) 3 (iii) 1
() Two Rs. 5 coins will make

(i) Rs. 10 (ii) Rs. 15 (iii) Rs. 50
(g) At what time of the day does the sun sets?

(i) Night (ii) Evening (iii) Morning
(h)Heavier things have more

(i) height (ii) weight (iti) length

2. Find the odd one out: 15]

(a)January, February, Monday

(b)April, Night, June

(c) Afternoon, August, September

(d)October, November, Evening

(e) January, Morning, April




3. Observe the pattern and find the next two shapes:

(a) LOABLLD

(b) D020

(c) OAOAOA
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4. State True or False:

(a) December is the first month of the year.

(b)August has 31 days.
(c) Thursday comes before Wednesday.
(d)February has 30 days.
(e) Sunday comes after Saturday.
5. Match the following:
(a)35-14
(b) 75-30
(c)47 — 34
(d) 57 — 46
(e) 28 —12
Part B
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6. Colour the objects according to the given instructions:

(a) Colour the object which is lighter.
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(¢) Colour the bottle which has less liquid.
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7. Add the following numbers: [6]
(a) 33 (b) 55 (c)6 3
+23 =22 +31
d 5 6 () 7 6 ® 4 4
+4 2 A | +1 1
8. Find the difference of the following numbers: (6]
(a) 38 (b) 73 (¢) 66
-16 -6 2 -16
(¢) 54 (e) 8 6 0

-3 3 -3 5
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9. Mi
Mita has 32 red beads and 26 blue beads. How many beads does she have?[3]

10.Richa had 29 marbles. She lost 8 marbles. How many marbles does she have now?
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11. Write the tale of 7 and 8. [10]
7 X 1= | 8 X 1=
7 X 2= 8 x 2=
7 x 3= 8 x 3= .
7 x 4= 8 X 4=
7 | x | 5= 1 [ x | 5=
7 x| 6= 8 x | 6= |
7 x | 1= 8 X J’: |
7 = 9= 8 X 9:/
7 < 10 | 8 x 1=
] | E—




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

